Q.B. Series : Question Booklet No.

Paper -1

Maximum Marks : 150 Time : 2:00 pm to 4:30 pm

RO NO: iioociiicisciinnsanssssionssvare IR NS

: gerfest .

() nE-1 e (1) 5 feam w3 it FAZ9 (YRS 8. 1-30) (2) YR I (YES &, 31-60)
(3) P T (ES &. 61-90) (4) AES (YFS &. 91-120) W3 (5) ufen=az niftts (YIS 3.
121-150) AHS TS| :

(2) el mEfenr we fx §AMS Hie 3 Hed 33, 3% d99, YRs uR3er &89, yis uRsar Hidhd, fou
F= n3 AR 6w TS) IF qIX I3 9T I TSI WEASt 396 T 793 Ry e fiierg <9

(3) Muﬂﬁwﬁglwtlmmlmm?fé‘awa fere g9 feamut fod* o €39 A 3
=t Jdifes wafdar adt” J=df |

(4) %tmlmaﬁmzﬁﬁmmwﬁzﬂwﬁ:ﬁmﬁwa

(5) yFs T At B39 Evnme. Imuiw e 3 yms & s fEt ot mEfhs Aqr 3 O o e

(6) f¥x I <o €37 ¥= 3 €39 ¢ w3 Hfonm wear

(7) @Weﬁéﬁmﬁgéwmmsuﬂwaﬁwm mm?ﬁwﬁagueﬂwaﬁww
grdter T

(8) émimwéﬁfeﬁéﬁammﬁaﬁsaéeﬁm§wﬁﬁ3né%ﬂﬁeﬁmé
W F979 3T A=A

(9) <Fe u3H dT Buds, &W%%mﬁmﬂ(@mﬁmmﬂ)@mwwm
g H.nma. Hie adtifides § uifimr 29 &@3T 3 ufos’ € & A<

(10) YFs YATSST wiardwt wiZ dandt €5 sret fg gt far <t feee & §a3 &9 wiaww! writmnd &t

' nifsH Hfgnm A |
: INSTRUCTIONS :

(1) Paper - 1 consists of (1) Child Development and Pedagogy (Q. No. 1-30) (2) Punjabi Language
(Q. No. 31-60) (3) English Language (Q. No. 61-90) (4) Mathematics (Q. No. 91-120) and
(5) Environmental Studies (Q. No. 121-150).

(2) Ensure filling of your Centre Code, Roll No., Question Booklet No., Q.B. Series on OMR: Sheet and also by darkening
appropriate ovals. In case of wrong filling the data. candidate will be responsible.

(3 Question Paper Carries 150 marks. Each question carries one mark, with four alternatives out of which one answer is
correct. There will be no negative marking.

4) Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

(5) Mark your response only at the appropriate space against the number corresponding to the question while answering
on the OMR Response Sheet.

(6) Marking more than one response shall be treated as wrong response.

(7 Mark your response by completely darkening the relevant oval. The Mark should be dark and the oval should be
completely filled.

(8) Use of calculator, Mobile or any electronic/ helping device is strictly prohibited and use of these shall lead to
disqualification.

(9) After completion of Test, candidate MUST remove the Carbon copy (Candidate’s Copy) of OMR and hand over
the Original OMR sheet to invigilator before leaving the Exam. Hall.

(10)  The question paper will be both in English & Punjabi. In case of any doubt, English version will be taken as final.
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6.

Paper - 1
Child Development and Pedagogy (Q. Nos. 1-30)
gSfeay w3 fHfinr 7R3 (yis § 1-30)

Who has described human behaviour and development as a process of responding to reward and
punishment in the environment ?

(a) Jean Piaget (b) John Watson (c) B.F. Skinner (d) None of the above

fom & vad) fezog w3 feay o @3wds feo fead w3 93 3 yfsfafonr & yfafanr @ 39 °3
fenifipr ST T 7

(a) #ta fumrs (b) 75 TCHS . (¢) Hh.wie Afass (d) Gudas I &It

Which state is NOT true about Inclusion ?

(a) welcoming Diversity -

(b) children in school who may feel excluded

(c) benefiting all learners, not only targeting the excluded -

(d) meeting the needs of children with disabi]aity only

AfHss (FHS J957) 919 faaz aus mdt &3t J .

(a) fefFa3r & nifsdes

(b) FAg® feg 99 A 2ifsnr Hiogr a9w 98

(c) fhge =fnr 3 aeg & a9, A fftrge § &3 ugeer
(d) fRIE ez @& Ffanr S Agast ydhit gaat

Which of the following age-group, the children’s ability to pronounce the letter w., b, t, f, g, n
perfectly grows ? :

(a) 12-18 Months- (b) 24-36 Months (¢) 18-24 months (d) 3-5 Years :
J&t fofanr 138 1oz @Ha AT 120 dfont’ & =95 w. b, t, £, g, n F% & AHdET yds feafAs et o -
(a) 12-18 W& (b) 24-36 HJTS (c) 1824 Hdt® (d) 3573 ;

The most appropriate meaning of learning, according to Gates, is
(a) Inculcation of knowledge

(b) Modification of behaviour by experience and training

(c) Personal adjustment

(d) Acquisition of skill

JIeA € nigAd Mifthiia © AZS Baef »i9g J

(a) fiftmr o grfas (b) niEs= vz fraset enrgr feegg & FU9
(c) foraEaR feemar (d) fedssT of ynust

The education that child receives in family is

(a) Formal (b) Informal (¢) Non-Formal (d) Semi-Formal
TRt faost Sor, ufsers &9 yus ager :

(a) INF I (b) JrITRHT (c) H-Imit (d) »FIO-Imt

What will be the IQ of a 20 year old boy whose mental age is 15 years ?

(a) 64 (b) 75 (c) 80 ; (d) 100

Ba 20 A& B39 faret Hafia 84 15 7@ I, o 1Q ot J2ar 7

(a) o4 b) 75 (c) 80 - (d) 100

‘Scaffolding’ according to Social Constructivist Theory refers to

(a) Simulation Teaching

(b) Recapitulation of previous learning

(¢) Giving support in learning by adults

(d) Ascertaining the cause o mistaﬂkes done by the students
89 U3 nisAg ReE®Ea 3 32 9 ;

(a) TAH®HES nifusmis

(b) ufast fiffimr & gogrst

(c) F&dT enrgr THusTeT 99 g v

(d) fefenrgdint gnrar S aEsn T ads & U=T Barge
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10.

11

12.

13

The period of sensory motor adaptation, according to Piaget is

(a) 1-3 year (b) 0-2 vear (c) 3-5year (d) 4-6 year
fipr™ wiZATE ARER HeT niag®s & o1 I

(a) 1-3A® (b) 0-2 A% (c) 3-5 A% (d) 4-6 A&

The rules for effective teaching made from experiences of teachers and thinkers are called
(a) Method of teaching (b) Maxims of teaching

(¢) Techniques of teaching (d) Teaching strategies

mfanmustt w3 feeraa € nigset 3 98 USRS s T fA0H a8 T 95

(a) wiftmius o 2ar : (b) wfus T B39

(c) il Shorf fetiingt | (d) =imrus atSnf

Primary school children will learn most effectively in an atmosphere

(a) where their emotional needs are met and they feel that they are valued

(b) where the teacher is authoritative and clearly dictates what should be done

(¢) wherethe focus and stress are only on mastering primarily cognitive skill of reading, writing -
and mathematics '

(d) where the teacher leads all the learning and expects students to play a passive role

yrfenst raw fefonradt fer e3egs fée Ae 3 =0 us=mslt a1 5% fitesar

(a) & S9&" Snff I=5raa Fga=T udni® Jeind' T 73 B HIYAR 39% 95 T Basf & s T

(b) HE wifthimua viftaraa J w3 Fure 90 3 fa st dsr g ordfter 7

(c) T TE9 ni3 99 UeS 39 3 fige ugs, fous w3 afes @i Sfux fodsse fo9 Hoas
THS 396 ‘I e J | I . ; :

(d) ﬁamfuwuanﬁfnuwﬁéfmmaﬁw?mz%@mmﬁw%@wﬁwgﬂwﬁ%

An 8 years old girl shows exceptional sporting ability. Both of her parents are sportspersons and

send her for coaching every day and train her on the weekends. Her capabilities are most likely to
be the result of an interaction between

(a) Heredity and environment {b) Discipline and nutrition
(¢) Growth and development (d) Health and training

feq 8 A =t fea wiFty 83 IEdz § | ER e fuz fusdt 9% »i3 99 I 8RS afda oot
3HY I »i3 03 T g ‘3 B8R & firuwst 82 95 | SR S mige feust fegarg UsAug

AT o fizT s :

(a) vRTEI () mi3 =3eas (b) WEHHES M3 URE

(c) 33 m= feam o (d) T3 w3 faumrst

Which of the following are the secondary agents of socialization ?

(a) Family and neighborhood (b) School and neighborhood
(¢) School and immediate family membe (d) Family and relatives

Jat fefantt &9 fao3 mviiags © 3= &2 75 2

(a) ufgers w3 gife (b) FIB 73 InfE

(¢) FIS mi3 333! Ufgeaa Her (d) ufged 3 farse
According to Lev Vygotsky, the primary cause of cognitive development is
(a) Equilibrafion (b) Social interaction

(¢c) Adjustment of mental schema . (d) Stimulus-Response Pairing
®le dieret nigA9 St feam = Hes a9 0

(a) H3®5 T9 (b)) BT UIAUE ys™=

(¢) Wafha GraT o feemar (d) S3Fg-yfsfafonr w3
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14, Ina progressive classroom setup, the teacher facilitates learning by providing an environment that
(a) promotes discovery ) (b) is restrictive
(¢) discourage inclusion (d) encourages repetition
¥ feamtes swmHgH fe-nuy fog, mfummafnwﬁ?gfeanrﬁwwmaaaem@?
J frgsr _ ' |
(a) H7 & U3AIs fier 3. (b) ot T
(c) ‘FfHEs & fsa83mmas sger I (d) TITE % B33 quer &

15, A5 year old boy talks to himself while trying to fold a T-shirt. Which of the following statement is

carcect inthe context of the behaviour disphayed by e Yoy ?
(a) Jean Piaget and Lev Vygotsky would explain this as egocentric nature of child thoughts.
~(b) Jean Piaget would explain this as egocentric speech, while Lev Vygotsky would explain this
as the child’s attempt to regulate his actions through private speech.
(¢) Jean Piaget would explain this as social interaction, while Lev Vygotsky would explain this as
exploration,

(d) Jean Piaget and Ley Vygotsky would explain this as the child’s attempts to imitate his father.
féaﬁﬁmﬁBTT-shinaﬁaaﬁéé"(ﬁméammwmmaa@% | B3 enirar foygrs
aé%ewéﬁeagﬁsﬁﬁi%’%hﬁféém?mnﬁ%? :

(a) #I5 finry 3 &= <idieret fer & §9 & fegrat ¥ MUREfI3 (egocentric) Fa & 39 3

(b) Fﬂﬁﬁ%ﬁ%ﬂ@ﬂ%&?&gm%%%maﬁwmmeﬁzﬂﬁ%ﬂwﬁsw
i It 8Re dHt & fstifvs ags ¥ 39 =955 a3

(c) & fumm fon & MR uamue yse ¥ 39 =9ss a3 | mefa dle Adienst fom o a9
UF3S ¥ 39 '3 7954 94T

(d) Fﬁxﬁmﬁm%@ﬁeéﬁmaﬁ%ng?éémé‘ﬁéﬁmﬁmmé&ﬁm%%‘%
TISS AIEI

16. At lower classes, play way method of teaching is based on
(a) theory of physical education programmes
(b) principles of methods of teaching
(c) psychological principles of development and growth
(d) sociological principles of teaching
IEEMT A3t e, nifthmus T uB-2 Sar migras 3
(a) AStex i far daemdt @ figis °3 (b) iftmirys hor fedbot & fgis °3
(¢) feam w3 I9att @ Hafefmss figis °3 (d) wiftus & A+ feais °3

17. A boy of IV grade with ‘visual-deficiency’ should be
(a) excluded to do a lower level of work
(b) helped with his routine work by parents and friends
(¢) treated normally in the classroom and provides support through audio CD’s
(d) gives special treatment in the classroom 4
ferdt-ure =8 v a3 ¥ fog m3a 3
(a) AH T Jow U9 595 BT e o gfter ‘
(b) &R € faufHz 1t 29 Hr3r-fusr w3 SRS oo Hee o grdit 3
(c) ™3 79 AUIs a1 & eta disr A ardler 3 w3 G Mgt Idt Rfguar fazr qra
(d) 3 S8 feam feegg g grdter 3
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18.

19,

20.

21v

22.

The *Insight Theory of Learning” was first proposed by

(a) Wollgang Kohler (b) B.F. Skinner

(¢) Jerome Bruner (d) Jean Piaget
ﬁiﬁwé%ﬁmﬁ?m@%?uﬁwma’rffmﬂﬁ

(a) THSIT JIBT o . (b) A, Afgsg eorar
(¢) 79H ggad enrar _ (d) #& fipor enar
"Development is never ending process.” This idea is associated with

(a) Principle of interrelation (b) Principle of continuity
(¢) Principle of Integration (d)  Principle of Interaction
“feam s & wIH JF @@t yfafar 57 feg feors Begz 3

(a) UIAUT ASO 2 Oz a3 (b) =539 ¢ fhuiz s
(¢) TEltEgs & a3 &5 (d) yarus Yy v figis a1

Which of the following will foster creativity among learner ?
(a) . Teaching the students the practical value of good education.
(b) Providing opportunities to question and nurture the innate talents of every learner.

-(¢) Emphasizing achievement goals from the beginning of school life,
g & & 2

(d) Coaching students for good marks in the examination.

(a) &'ﬁ:%ﬂa&ﬂ»ﬁ?ja"m?ﬁfuwarqﬁaﬂ)jaug@?

(b) mmﬁm§wyﬁwm@uﬁaﬁ?fmemmm

(c) P s ¥ nd3 3 ynidt @3 3 1ig o= -

(d) fefonradint § fonfsars feg 931 wist w2t Ih3g S

Which of the following is a characteristics of gifted learner ?

(a) He gets feel aggressive and frustrated

(b) He can feel under stimulated and bored if the class activities are not chal lenging enough
(c) He is highly temperamental

(d) He engages in ritualistic behaviour like hand flapping, rocking etc.

ﬁﬁ%ﬁﬁﬁ@@ﬁwéféafﬁﬁwa

(a) 83 nieHEHlS w3 fuafsnr wiogR e 3 ,

(b) mmmﬁﬁwﬁmyéaw@mm%%ﬁ@mw%
(c) 89U gg3 niftg ity

(d) @Uﬁamé.gmw@@mﬁgﬁwa%wﬁ

Dyslexia is associated with

(a) Mental disorder (b) Mathematical disorder

(¢) Reading disorder (d) Behavioural disorder

3R&arT AEUs 3 ,

(a) M o399 &5 (b) 3T T393 5%

(¢) U3S 393 5% (d) =T a=93 & ;

Robin who does not talk much at home, talks a lot at school. it shows that
(a) the school provides opportunities to children to talk a lot

(b) teachers demand that children should talk a lot at school

(c) she does not like her home at all

(d) her thought get acknowledged at school

@ﬁﬁﬁaﬁmmﬁﬁmﬁgﬁﬁga@?w&%ﬁu@?%
(a) ngcsa”?%nﬁéavérmﬁménﬁmmaw% :
(b) MR Hat FT¢ T3 Tt dfontt 3 frmmer e grfter 3

(©) BT nmiE v & famsaes whe &t a9et 3

(d) SR ¥ feara’ & ngs feb yewat yus Jot 3
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24,

25,

26:

27,

28..

29,

30,

The ability to group *ohjects’ together on the basis of common features. according to Jean Piaget’s
Cognitive Development theory, is termed as

(a) Assimilation (b) Accommodation  (c) Classification (d) Class Inclusion

fed fidinfl fefms=t & w9 3 ‘eRgni” v fedler AT a9 & ardidnz 8, s iy ¥ Sftx
fear © fHO'3 nisATg faar Ater 3

(a) fEafHa aaar , (b) AHTHE

() =IeTs (d) =991 (FAHT3) fog AHS S9aT

Which one of the following represent *S’ factor in Spearman’s Two Factor Theory ?

(a) Special Factor (b) Social Factor (c) Specitic Fagtor (d) Systematic Factor
AUMIH®S © “Two Factor’ AU f2g 3ot fiffant 59 fxgzi *'S” =a2g YIRS Fger J

(a) PURS @ed (b) AWS Soed (¢) AufAfex edeg (d) fAReHfex 2aes

Who was the exponent of Multifactor Theory of Intelligence ?

(a) E.L.Thorndike (b) B.F.Skinner (¢) Jean Piaget (d) Louis Thurston
gul @ Hecledes fauts e fenffunmsr & @t

(a) &. 0. assta (b) . ¥, Afgse (c) & fummy (d) =fer ganes

Which out of the following theories views that “behaviour could be shaped through successive

-approximation and reinforcement of responses. is more nearly approaching towards desired

behaviour™ ?

(a) Social learning (b) Instrumental Conditioning
(¢) Classical Conditioning (d) Operant Conditioning

w%ﬁwﬁ'ﬁmm@&aﬁﬁﬁeﬂ§mégﬂé}m>ﬂmWW
(2) PHTS (st (b) USf9a nizg®@s (o) UTUT= nigamss  (d)  WUTE minass

Trait theories are related to which of the following aspects ?

(a) Intelligence (b) Growth and Development

(¢) Personality (d) Creativity

¢z frui3 Jat fofanrt 29 faos vy & fdus 05

(a) wdt (b) 3Jat w3 e (¢) FuHEME (d) FIEIHIZT

Kindergarten (K.G) system of education means * garden of small kids", who gave the concept out of
the following persons ?

(a) John Dewey (b) Friedrich Froebel (c) Plato (d) Herbert Spencer
fAfenr & &=t yzdt o nigg ‘82 Sfonf o v, feg argar Jat fefantt fog famd st At
(a) #9553t (b) Sfsfoxt Tom (c) use (d) IIgIe AUSHT

The stage Pre-Operational in Piaget Theory is called pre- operational because.
(a) the children are pre-determined.
(b) the children have not yet mastered the ability to perform mental operation.

(c) the children are pre-planning.

(d) All of the above. :

fumm fRut3 29 * Pre-Operational’ o3 {-nmudmes Fo8er I faGfa

(a) B9 yIe-foz a5 ,

(b) Ffonr & & 33 vl fafanrer 95 B Miger g Ho93 THs &0t = 3
(¢) ¥9 yg=-fauifaz os

(d) Gudsm AT -
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31.

32,

34.

35,

36.

3.

38.

UArdt STHT (UES 3 31-60)
Jot fizg 19 & fimirs 58 U w3 3 a8 e < €33 el yis &: 313 38
o5 AEg-I3 % fong=t Ot 80 02 395 = won 3 fies four maer 31 fde 98

ﬁa?ﬁaza?ﬁﬁﬂaé@aﬂ?mﬁwfm*?ujeéaamﬁaﬂée'm@?m
Ifer J €8 3 ft §u 398 & ¥in 3 =gy forw 31 AT fengst 9 o €3 Ifg-Ifg 3 v

A J 3 §9 fau9 g4 foas we gder I UTE 3 Mied © f4e9 A for B8 99l B9
%ﬁ@h%mmammﬁ%;mmeRﬁaméi
3 g I oA & 33T I8 39, % fos e 23, 398 BH Y313 I B9 u=er fA< HoH
373 &5 I &3 fgo I WIS, Afmg, HESH 2 vEE 396 T8 fovast 3 ¢ Is
&S U39 GEifAn »3 UAY 2 g &ed o AT 39¢ Jfve I8 foasmi © yEia Il
W?W.WWW@ r’agaeﬁeﬁ"aﬁ.mrewrm'?aluwsﬁ
fam-arfe fegd Pht fiiswr, I, U§ wife wnE =7, fogrfomit J 39 3 It ez Y= €
éﬂ@“@ﬂﬁgﬁﬁ%ﬁﬁﬂﬁﬂ@ﬁ?@ﬁﬁémﬁmmémﬁwmétéﬁ@a
39 & I A ITE IT& T I IR W3 BI6 IR I A8 36l &8 BuE TB I I
3% fereSt Zod F9 2 Ur3s yEFis I B9 e

a5 =fenr @ yFia 3= 37

(@) SIBBA (b) TISBALH () 5IA IIG T (d) GuIa3 Y At &t
U fomr-arfe feud foag it 967

(2) T&-FA (b) Toem, 3 () UIs-3T3  (d) AT AF
H@H?'a‘a@?ﬂ@aézaaéﬁtéﬁwr?

(a) AN T 993 J Jd (b)y €9 39 TR I I3 fmr

(c) 396 T Ha 2 fmr Ifg famr (d) T B I gt foas famr
33 IA3 396 T WA YT'S JIT I67

(a) UTE M3 Aded € 953 (b) fHT "3 UTd

(c) BH NI AL HEI : (d) BuIaz f28 3 adt

fengdt fa s @3 fR o dae I ?

(a) =Y (b)y M= (c) 3H (d) T T B
fan fovadt & wiare fam 3% 3 Wt 7 Feer 97

(a) € T ffar A I (b) €3 3TT fdr I

(c) BIwE fiy J (d) G 9n by I

396 &8 Quf—t?é?

(a) MBH (b) B-femeH () fimrg (d) JAS
gt &g 9% 39 far gid © U3d I&?

(a) 39 (b) IR (c) WS (d) fimrg

- : (Paper-1)



39,

40

41.

42

43

44,

45,

46,

(a) fasam 7y (b) 85
(c) ™o 7y 3 (d) a7 fgr g
m§ﬁﬂm@ﬁmm€8@@ﬁ@ﬁ

(b) ﬁnwaﬁﬁwmﬁmn@?ér_
(c) WWW&HWWW@ETa
(&) SO S Ha e g 3

@ B I 7s T (b) "I fergize

(¢) AYHE ™3 5 Q@ogs g9s e (d) 3 58 Su55 e
T3 F

(a) Ieaz I (b) Afgwgg 3

(c) fefsgm 3 (d) AHH
TIHH 30t foedt wiet 3 |

(a) AR I ¥y (b) ¥8 I AR

(c) g Iz (d) I ¥ Girg

Sz fams affe gs |

(a) ﬁﬁtfélfﬂ*‘aﬁ"‘dﬁ?ﬂﬂ"ﬁ@l (b) m‘aﬁwﬁﬁmﬁéﬁgéf
(c) ﬁﬁﬁw&a%w@éf (d) mmwmmm
Qa}ﬁaerﬁsaagasaﬁwymerﬂaﬁwaaé'?

(a) 97 N> (b) F7 feg mies

(c) HIe I3 (d) ITg-Heg

H'S YRS 29 fg'39 3R e &9

(a) TS YRS €9 '3 2 & yarnt udugr
(b) %%amgagavefégasﬂmsaaéam

() To39ys & g g fider 3

(d) = § o3 gat 89 ga)

(Paper-I) 8



47,

48.

49,

50,

51.

52.

93

2 J% U 9 § B3R fegs, @ g 3 fagT v gae 97

(a) deF T Hfag E3T (b) aw@m%a'br

() IFEHIB T (d) FIE e
g Rur eR A S A Y

(a) WoUF ~ (by Hfenrgr

(c) T=AF (d) Fedrd

I3 T faul I 957

(a) T’ T @uas War ger J|

(b) Tt & Agy g% Sefenr e I

(¢) A faa fan ges= 3 erdt 97 3 g Il
(d) USTI HI |

fos' fod fags A ygrem & €27 3 Aew 3 2

(@) fefenrgs Wiegdt diz Iea § g9 ags

(b) fefenrgsh wieg Yygerst 358S © s I aa'
(c) HR IR T wErE U ST

(d) SudEs A O

T4 feg, A €3 by =iz 7=, A § ot fagr Aer 97
(a) FIF (b) fafam
(c) FIH ' S (d) UM
Io' 3 e fed Hivinm BT Aee g8 |

(a) I& (b) g%
) BREE T (d) w3
fog feforrast fimrer filbuer 37

(a) U'S UH3E T HHH &8 U3y 3=
(b) fafamr fedt &8 ygrfmr A=
(¢) dfigea &8 yzrfor 2

(d) feoorfms fedt &8 uzrfowr 7=

— (Paper-I)



5" it e 73St § o 7 3 3 83 @ e’ @ §99 o8 - ys &: 54 3 60
HIA I 9T, 7HF O I
fearfent =% 93 o, wud fears,
' T TS o W i @ wg I
FH ) I w2,
A3t AT e farr, 39 TR oot @ a2
I e pare, g ey e |
ERUAVE 1o
I3 I3 B o D, .
ug il Har @ i 52 9% & Frfger
A S firg fieet S fam e

H "is-37g et fon ae wisas R,

feas Ao ST GR AR, Y B & faA o |
TIHI e G, wrarg widhy st € o o
e I 9t TE?

N ERUT S T2 9 3 e g,

A Qg |

ferel 3 o gt iy,

g5 J I W

S g8 fimp fan afgg &,

fle N s ot 3,

faer fagr S v g,

"R U ferer e Ao wger 2 |
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54,

56

5%

58.

59

6

ot et det, 2y At |

el ‘g Fgigr o ardt At afaat & |

A J 3TH T ?

I3" 39H =3, S 8F U T 28 3T |

8uIa3 afes ug 3 s @ feasu g
fﬁaﬁ*éwaﬁ?s@aaﬁaéé?

(a) THI®3 age
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English Language (Q.No. 61-90)

Read the passage carefully and answer the questions (Q.No. 61-68)

I decided to begin the term’s work with the short story since that form would be the easiest for
[the police officers], not only because most of their reading up to then had probably been in that
genre, but also because a study of the reaction of people to various situations was something they
relied on in their daily work. For instance, they had to be able to predict how other would react to
their directives and interventions before deciding on their own form of action: they had to be able
to take in the details of a situation quickly and correctly before intervening. No matter how factual
and sparse police reports may seem to us, they must make use of a selection of vital details, similar

to that which a writer of a short story has to make.

This was taught to me by one of my students, a captain, at the end of the term. I had begun the
sludy of the short story by stressing the differences between a factual report, such as a scientist’s or ;
a policeman’s report, and the presentation of creative writer. While a selection of necessary details
is involved in both, the officer must remain neutral and clearly try to present a picture of the facts,
while the artist usually begins with a preconceived message or attitude which is then transmitted
through the use of carefully selected details of action described in words intended to provoke
associations and emotional reactions in the reader. Only at the end of the term did the captain point
out to me that he and his men also try to evaluate the events they describe and that their description
of a sequence of events must of necessity be structured and colored by their understanding of what
has taken place.

The policemen’s reactions to events and characters in the stories were surprisingly
unprejudiced.... They did not object to writers whose stories had to do with their protagonist’s
rebellion against society’s accepted values. Nor did stories in which the strong father becomes the
villain and in which our usual ideals of manhood are turned around offend them. The many hunters
among my students readily granted the message in those hunting tales in which sensitivity triumphs
over male aggressiveness, stories that show the boy becoming a man because he fails to shoot the
deer, goose, or catbird. The only characters they did object to were those they thought unrealistic.
As the previous class had done, this one also excelled in ‘interpreting the ways in which characters
reveal themselves, subtly manipulate and influence each other; they, too, understood how the story
usually saves its insight, its revelation, for the end.

This almost instinctive grasp of the writing of fiction was revealed when the policemen
volunteered to write their own short stories.. They not only took great pains with plot and
character, but withfst)fle and language. The stories were surprisingly well written, revealing an
understanding of what a solid short story must contain: the revelation of character, the use of
background description and language to create atmosphére and mood, the need to sustain suspense
and yet make each event as it occurs seem natural, the insight achieved either by the characters in
the story of the reader or both. They tended to favor surprise ending. Some stories were sheer
fantasies, or derived from previous reading, films, or television shows;_Most wrote stories,.

obviously based on their own experiences,  that ‘x;evealed the amazing distance they must put
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between their personal lives and their work, which is part of the training for being a good cop.
These stories, as well as their discussions of them, showed how coolly they Jjudged their own
weaknesses as well as the humour with which they accepted some of the difficulties or injustices of
existence. Despite their authors’ unmistakable sense of irony and awareness of corruption, these
stories demonstrated how clearly, almost naively, these policemen wanted to continue to believe in
some of the so-called American virtues—that courage is worth the effort and will be admired: that
hard work will be rewarded: that life is somehow good; and that, despite the weariness, boredom,
and occasional ugliness and danger, despite all their dislike of most of their routine and despite
their own occasional grousing and complaints, they somehow did like being cops: that life, even in
a chaotic and violent world, is worth it after all.

Compared to the artist, the policeman is
(a) A man of action, not words (b) Factual not fanciful
(¢). Neutral & not prejudiced . (d) Stoic & not emotional

Policeman reacted to story, events and characters
(a) Like most other people (b) According to a policeman’s stereotyped image
(c) Like dilettantes (d) unrealistically

To which sort of characters did policeman object?
[. unrealistic

II. Emotional

I11. Sordid

(a) lonly (b) Honly

(c) 1&1only (d) II & Il only
According to the passage, a short story should contain

(a) Elegant prose (b) Suspense

(c) . Objectivity (d) Real life experiences

_The instructor chose the short story because
. L It was easy for the students :

II. Students had experience with it
HI. Students would enjoy it

(a) lonly (b) Honly"

(c). 1 & I only (d) II & Il only
Like writers, policemen must !

(a) Analyse situations (b) Behave coolly
(c) "Have an artistic bent (d)' Intervene quickly
.According to the passage, most policemen wrote stories about,

(a) Films (b) Previous reading
(c) American-History (d)' Their work
According to the author, policemen view their profession as

(a) Full of corruption (b) Worth the effort
(¢) Full of routine (d)* Poorly paid
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Which of the following plays an important role in acquiring second language ?

(a) Comprehensible input : (b) Natural & Communication friendly Environment
(¢) Neither (a) nor (b) (d) Both (a) & (b)

Reading as a holistic process includes :

(a) Shapes of letters & the sounds linked with them

(b) Meaning of words, sentence and sentence structure

(c) The ability to anticipate and predict

(d) All of the above

Along with basic language skills (L, S. R & W). literature makes an important contribution in other
arcas of language including

(a) Word meaning & grammar (b) Expression & Creative writing

(c¢) Both (a) and (b) (d} Neither (a) nor (b)

Which of the following is included in the category of Essential Basic material

I.  Mats, Benches, Chairs I1. Charts, Models, Pictures

[II. Toilets, Clean drinking water IV. Language cards, Tape recorder. Posters
(a) IT&IV b)) T&III (¢) &I (d) M&IV

Which type of grammar lays stress on form of grammar ?

(a) Descriptive grammar (b) Prescriptive grammar

(c) Both (a) and (b) (d) None of the above

Which method of teaching grammar provides enough pattern practice that ultimately leads to
incidental learning 7

(a) Deductive method (b) Inductive method

(¢) Both (a) and (b) . (d) None of the above

Which of the following statement is not correct ?

(a) Dramatisation also involves certain sub skills

(b) Remedial tests are curative

(c) Remedial teaching does not cover both reception & expression objectives

(d) Literary Appreciation is also a sub skill of dramatisation

In which stage of writing exercise the tinal product is linguistically determined by the teacher ?

(a) Controlled writing (b) Guided writing (c) Free writing (d) Creative writing

A language teacher should assess the child-on the basis of his/her

(a) comprehension of what he/she listens to & reads

(b) Ability to express through speech and writings

(c) Neither (a) nor (b)

(d) Both (a) and (b)

Which of the following statement is false ?

(a) While assessing the child, we must compare the performance of the child only with his/her
own performance

(b) One activity cannot be utilised for assessing many abilities

(¢) At primary Tevel, fluency takes piecedence over accuracy

(d) Observation is the informal way of assessment

Which of the following system of language is totally rule bound ?

(a) The Sound syqtem (b) The Word Formation system

(¢) The sentence structure system (d) All of the above

Oral Tests can be

(a) Formal (b) Informal

(c) Neither'(a) nor (b) (d) Both (a) and (b)

The most stable feature of a language is its ‘

(a) Sounds (b) Sentence structure  (¢) ~Grammar (d) Vocabulary
Which of the following is the synonym of Extensive Reading ?

(a) Library Reading (b) Supplementary Reading

(¢) Independent Silent Reading (d) All the above

That the same word changes the meaning of the word if uttered differently refers to which level of
meaning of words ? :

(a) Lexical meaning - (b) Syntactical meaning
(c) Intonational meaning (d) Morphological meaning
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Read the passage carefully and ansﬂvcr the following questions (Q.No. 84-90)

Morally and culturally, American society, as reflected in our TV programs our theatrical fare,
our literature and art appears to have hit bottom.

Gen. David Sarnoff felt prompted to issue a statemen't_ in defence of the TV industry. He
pointed out that there was much good in its programs that was being overlooked while its
occasional derelictions were being overly stressed. It struck me that what he was saying about TV
applied to other aspects of American culture as well, particularly to the theatrical productions.

Without necessarily resting on his conviction that the good outweighed the bad in American
cultural activity, I saw further implications in Gen. Sarnoff’s declaration. Audiences needed to be
sensitized more and more to the positive qualities of the entertainment and cultural media. In
addition, through such increased public sensitivity, producers would be encouraged to provide ever
more of the fine, and less of the sordid.

Here is where questions arise. If the exemplary aspects of TV are not being recognized, what
is the reason for such a lack of appreciation? Similarly, and further, if the theatre, including in this
term the legitimate stage. on and off Broad-way as well as the moving pictures, has large measures
of goodness. truth and beaut y which are unappreciated, how are we to change this situation?

All in all, what should be done to encourage and condone the good. and to discourage and
condemn the unsavory in the American cultural pattern?

These are serious and pressing questions—serious for the survival of the American Way of
Life, and pressing for immediate and adequate answers. Indeed the simple truth is that the face that
America shows the world affects seriously the future of democracy all over the globe.

Since the theatre in its broadest sense is a large aspect of American culture——its expression as
well as its creation—I saw the urgent importance of bringing the worthwhile elements in the
American Theatre to the fore, Especially was this importance impressed on me when I realized how
much Hollywood was involved in exporting American life to the world. and how much Broadway
with all its theatres meant to the modern drama.

Then the thought of the Bible came to me in this connection. Was not the Bible the basis of
Western civilization as far as morals are concerned? Why not use the Bible as guide and -
touchstone, as direction and goal in the matter of the cultural achievement of Western 'sociely?
Thus was born “The Bible on Broadway™. '

The birth of the idea accomplished, rearing it brought the usual difficulties of raising a
child—albeit in this case a “brain” one. There was first the fact that the Bible, although the
world’s best seller is not the world’s best read book, Second was.the Current impression that
“message-plays” must necessarily be dull and unpopular....

Still, I was drawn to the project of a series of lectures on the Bible and the contemporary
theatre. What if the Bible is not well known? Teach it! Plays with a message dull? All plays by
reason of their being works of art have been created by their authors® selection and ordering of
experience. As such, plays are proponents of ideas—and certainly they are not meant to be
uninteresting....
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That there are spiritual, even religious ideas, in the contemporary theatre should be no cause
for wonderment. It is well known that the drama had its origin in religion. The Greeks, the Romans,
as well as the early Hebrews, all had forms of the drama which among the first two developed into
our classical plays.

- In the Middle Ages, it was the Church in the Western World that produced the morality and
mystery plays. With such a long history it is not surprising to find an affinity between the Bible and
the Theatre. -

- The author is primarily concerned with

(a) the declining pattern of morality

(b) promoting American theatre

(¢) the role of Bible in the contemporary theatre
(d) comparing the theatre with other art forms

With which of the following statements regarding the theatre would the author most likely agree ?
(a) The theatre does not reflect American culture. ;

(b) The critics of American cultural life are biased.

(¢) While the entertainment media can be eriticized, they contain much wholesome material.

- (d) The advertising media are largely to be blamed for criticisms leveled at the theatre.

Which of the following statements best reflects the author’s own ideas?

(a) American art forms have degenerated to a new low

(b) The good outweighs the bad in American cultural activity

(¢) American culture has positive content but it is not appreciated by the public
(d) Only the biblical content of American theatre has the positive meaning

‘The author implies that he will deal with which of the following questions?

L. What is the reason for the lack of appreciation of the theatre?

Il To what extent have Bible themes been used in or influenced American theatrical production?

[fl. What should be done to encourage the good in American culture?
(a) Ionly ] : (b) IIonly
(¢) 1& Ilonly (d) I& HIonly

It can be inferred from the passage that the author’s background might be in any of the following
occupations except . s '
(a) Theatrical producer (b) Thespian

(¢) Humorist : : (d) Writer

The author believes that high American & cultural values are important because they determine
(a) what is produced in Hollywood (b) the future of world democracy
(¢) whether the Bible will be studied (d) the basis of Western civilization

The author implies that if the public is made aware of the positive qualities of American

_entertainment, it will
- I demand more high quality entertainment

II.  demand less low quality entertainment

LIl attend the theatre more often ~

(@) Ionly (b) I only

(¢) I& Ionly (d) I1& IIonly
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Mathematics (Q. Nos. 91-120)
afEs (yas & 91-120)

A factory produces 142 cars every day. In 2016, there were 75 holidays and remaining were
working days. The number of cars manufactured in that year is
(a) 10650 X (b) 51830 2 (c) 41180 (d) 41322
Ea Sxedt 99 97 142 gt g 8T 3 1 2016 9 75 £ Fe w3 gt an T fos A n
A% feg fagtiz arg & o=t T -
(a) 10650 (b) 51830 (c) 41180 (d) 41322 _
60 litres of milk was divided equally among students of a school, if each student got % litre of milk,
then number of students in the school is : ;
(a) 15 (b) 240 . (e) 2400 _ (d) 150 :
60 g Tu fEal Fgw ¥ fefonradhnt g gavag fgnr fomr | Fg a9 fefenradt £ % dem Tu
fufenr 3t Raw feg fefonmad & faredt 3

(a) 15 (b) 240 (c) 2400 (d) 150
If we divide 99 by .009, we obtain s

(@ 110 . (b) 1100 ~ (c)_ 11000 (d 11
Herd AT 99 & 009 5% I JFY JF, A T T

(a) 110 (b) 1100 (¢) 11000 (d) 11

Four bells begin to toll atter 3, 8, 20 and 24 seconds respectively. If they strike together at 12 noon,
they will strike together again at

(a) ;l‘ p.n. (b) 2p.m. (c) 12:30 p.m. (d) 2 minutes past 12 noon
99 ¥8&' gHITT 3, 8, 20 i3 24 Aldet amm o 98 | Aad 89 sufae 12 = Bafoni o
75, Bu gurar fEafontt Sacdin:

(a) 1pm. (b) 2p.m. (¢) 12:30 p.m. (d) zufgg 12 =5 3 2 file gwie
“The number of bricks of size 20 ¢m by 10 cm needed to floor a room of size 20 m by 16 mis
(a) 200 (b) 2000 (c) 20000 (d) 20

fesr 20 ¥ites w1629 © T @GR &t 20 Hft, Tt 10 FR. Shor fdhor fiich & migas 3

Y, (a);- 200587 (b) 2000 {c) 20000 (d) 20

An iron beam is 4m long, 40 em broad and 30 c¢m thick. Its weight in Kilogram, if 1 cu. em of iron
weighs 8 grams is

(a) 384 ' (b) 3840 & (c) 38400 - (d). S84 Fe. 0 o

33 &t fex w3t 4 vizg &, 40 Foft, FH w3 30 Aot TR T 1 fomer se U AEE &9 1 cu,
em € I 8 I J

(a) 384 (b) 3840 (c) 38400 (d) 38.4

The average weight of a class of 40 boys is 55 kg. The average weight is raised to 56 kg.if the
weight of teacher is added, then the weight of the teacher in kg. is :

(a) 96 (b) 111 __(0) 56 (d) 76 =

40 F3fenit T 8k AN T A 319 55 fas T1 Fad nifterua T 379 Af3nr deT 3 37 9iA3 39
<0 56 fo T e 9, fog mithmux o 379 fadqmr ffg T ¢

(a) 96 (by 111 (c) 56 (d) 76 _

‘A student walks from his house at 6:30 a.m. and reaches his-school at 7:15 a.m. The distance of the

school from his house is 6 Kilometres. The speed of the students is
(a) 4% kmv/hour (b) 8 km/hour (¢) 6 km/hour (d) 4 km/hour

fe fefenradt wg AET 6:30 THET I M3 7:15 3 wuE AgS ugee I | BRT w9 I Has o ol
6 fa@Hted 7 | fefonradt & a5t 3§

(a) 4 % faHL yStuer (b) 8 fat. ytuier

(¢) 6ft. ut uier (dy 4 faat, y3tuer 2

In a dinner party, 24% of the guests are vegetarians and the rest non-vegetarians. If there are 800
guests at the dinner, the number of non-vegetarians is :

(p) 608 : (b) 600 (c) 706 (d) ﬂ624 ‘ 2

81 1359 Ugdt &9 24% HioHs Faadt 95 WX g&t WHTTET 95 | TEd 1357 T 800 HEeE
I5 3T HETgTdoft S Aftr T

(a) 608 (b) 600 , (c) 706 (
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101,
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The sm*piu interest on ¥ 1700 tmm January 4, 1984 to May 29, 1985 at 3% Fu cugl;ugl in Rupees is

{a) 14.40 (b)y 5 (c) 1 40

1200 9UE 3 4 Ha=dt 1%4? 79)-rr§=°r 1985 & 3% A& €9 3 gufent T8 Aurgs fewrs T
(a) 14.40 (b) 50.40 (c) 15.40 (d) 5140

The temperature of a healthy human body is 98.6° F. His temperature in degree centigrade is
(a) 38 51 ‘ (c) 37 Lc} 39

fEa AeRE HadT AT T 3ueTs 98.6° F 3, Adtas 28 8rer 3unms T

(a) 38 (b) 36 (c) 37 (d) 39

The female population of a village is 15392. The male population is 540 more than the female
population. The total population of the village is

(a) 15932 (b) 31324 (c) 30324 (d) 32324

fom fUs Sl wig3t o AGATtNT 15392 T | YIHT TF AsHT Wa3T &% 540 finmer 31 fis &t

5 ASHMENT T

(a) 15932 (b) 31324 (c) 30324 (d) 32324
The decimal representation of 72 Rupees 9 Paise is

(ay 729 (b) ¥72.90 (c) ¥72.09 (d) T72.009
72 GUE 9 UN & THHSE 94U I

(a) ¥729 (b) €72.90 e) 37209 (d) ¥72.009

It we subtract the ditference between 250838 and 130650 from 503156, we obtain

~ (a) 120188 (b) 382968 (c) 372868 (d) 392868

105,

106

107.

HO8.

¥

109,

10,

HEE ol 250838 13 130650 T w39 3 503156 89 werge gf 3t grg Yz e 9

(a) 120188 (b) 382968 (¢) 372868 (d) 392868

The Pair that has same relationship as the pair square: cube is

(a) Triangle : Prism (b) Circle : Sphere (¢) Line:Cylinder (d) Sphere : Sphere
THWE A3 Ft 39T AU T 897 I

(.)faaa.ﬁ.fm (b) TT : THFAY (¢) Jur:fA®sg  (d) d&S9 @ TFa

The odd one among the following is

(a) Square (b) rectangle (c) triangle (d) cube
Ja Rignr &5 feduz 3 :

(a) =& (b) wfEz (c) f3a= (d) ws
The pair in which the numbers are similarly related as in the pair 8:256 is

{a) 7:343 (b) 9:243 (c) 10:500 (d) 5:75
29 Az fam 29 g 8:256 & 397 & Aoz I5 -

(a) 7:343 (b) 9:243 (c) 10:500 (d) 5:75

The number that comes next in the sequence

0, 6, 24, 60, 120, 210 1s

(2) 240 (b) 290 ~(9) 336 (d) 324
&3t 0, 6. 24, 60, 120, 210 f&T wigwr nr8er wix 3 -
(a) 240 (b) 290 (c) 336 (d) 324

Dne day. Ram left home and cycled 10 km. southwards, turned right and cycled 5 km and turned
right and cycled 10 km and turned left and cycled 10 km. The number ofK:lomettes he will have to
cycle to reach home straight is

(a) 10 (b) 20 (&) 32 (d) 15

8x fes IH w3 foa®er J 2us &8 10 faHL H@H@SW@?% | feg An HIer I o3 5 faat
AElem 9aSe J m3 Fd H3ET J 3 101“&.%&:1@3@6@@?%}:{3%);5@3% 10 faHt
AElaes 88T 9, BR fHur we uges &¢t fids fodHies reles segar u=ar ¢

(a 10 ° (b) 20 (c) 25 (d) 15

A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, then
number of sums he solved correctly are B = _

(a) 16 (by 12 3 (c) 24 (d) 18

o7 fefonrget 78 ATt Ae® Joor J 67 T T9E AT'® 363 J9e' J | vod 87 35 48 Ae® SaeT

3 57 (05 Brd At Im 13 95 FEwt O Aftnr 3
(@) 16 (b) 12 (c) 24 (d) 18
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111. A mathematics teacher can encourage the creativity and originality of ideas in students through

(a) project work (b) multip[e choice questions

(c) weekly tests (d) giving homework to students
aﬁ@%m%@m@wﬁawm%@wﬁﬁﬁﬁ??uam CERIECIT
(a) Urige I onidr (b) Fg-feadl ynat gwrar

(c) TSI<I CHST T (d) fefenrgEff S wg T aH € &

112. The main aims of asking questions in the classroom are
(a) to create interest and curiosity in students
(b) to motivate the students
(¢) to test the knowledge about the topics already taught
(d) all of (a), (b) and (c)
13 {39 Ae® e o vy 891 9
(a) fefonradr feg gt M3 B3R UTT AI&57
(b) fefonrgdhnr & Y3HIS 9
(c) ufgst ugre fefimr g9 Feardl o fodhie Ja&
(d) (@), (b) ™3 (c) AT

113. Individual attention cannot be paid to students due to

{a) large class (b) teacher’s burden (c) syllabus (d) low salary of teachers
fefonradn & fen@Estars 380 ol 9% &9t 3t 7 A
@) ZtamHEas . (b) WU € 88 I35
(c) froar aas (d) wiftruat & Wiz 35T 98
114, To motivate students in the class, which one of the following can be put to effective use?
(a) criticism (b) lenient marking - _(¢) strict marking  (d) genuine praise
w3 feg fefonrador 3 UzAT3 a0 &, 36 fefanf 79 faos 3 yzemdl b o fenier
H HaZT d % :
(a) NHTAT . (b) ¥BEmMI T A (c) IANITA (d) Hdl ygmAr
115, In numerals, the number Ninety-two lakh, seven hundred tive can be written as
{a) 92705 (b) 920705 (¢) 9200705 (d) 92000705
niatt feg, nix age &Y, A3 A U9 8 fafinr 7 Ao J ¢
(a) 92705 (b) 920705 (c) 9200705 (d) 92000705
116, “The difference in the place values of two 7’s occuring in 7872 1s
(a) 6030 gy (b) 6930 3 &c) 0 (d) 6830
7872 fRg BT B2 *7° T FEs W& g mi39 7 ¢
ﬁ) 6030 (b) 6930 (c) O (d) 6830
117. Hlow many times is 6 greater than 6 in 656277 ] 3
(a) 10 times £ (}1) 100 times {c) 1000 times (d) 10000 times
65627 29 6. 6 &% fa =T =37 I°?
(a) 10 times {b) 100 times (c) 1000 times (d) 10000 times
118. What time will it be 36000 seconds after 12 mid-night?
(a) 10a.m. (b) 10 pm. (c) l a.m. (d) 1pm,
Huaqwe;rawremooonf‘a@@a?mﬂ S
gt) 10 am. (b) 10 p.m. (¢) 1am. (d) 1pm
119, rectangle has a perimeter of 72 cm. If its length is 20 cm then area of the rectangle in squarc’
centimetres is
(a) 400 (b) 320 () 3200 (d) 36
foa nifez T ufermy 72 FR. 3, Fe feret Bamet 20 AL 3, feg =ga1 Adi-teT g wirfes
EEGCIGE
(a) 400 b) 320 (¢) 3200 (d) 36

120. A triangular park with sides 180 m, 160 m and 140 m has to be fenced. If the cost of fencing is
T 2.50 a metre, the cost of fencmg in rupees is
(a) 120 ; (b) 12000 (c) 1200 (d) 1250 !
180 M, 160 Mt i3 140+t 3ae @@ f¥x f3aE urga o grdelerat aist Al J, Hel@ graaterdr
& B9 2.50 U Yyt feg 3 3 et & qufenr g wEs 3
(a) 120 (b) 12000 (c) 1200 (d) 1250
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Environmental Studies (Q. Nos. 121-150)

ufgmregs miftds (yEs & 121-150)

*World Environmental Day’ is celebrated every year on:

(a) 5" May (b) 5™ June (c) 5" July (d) 18" July

fere ufanregs feer g8 A® Hetfenr Aier 3

(a) SHE 3 (b) 5953 (c) 5T&ES (d) 18 moet 3
How will you explain the meaning of Eutrophication to your students in a simple way?
(a) Water purification (b) Neutralization of waste water

(c) Waste water Treatment process (d) Enrichment of plant nutrients in water bodies
3HT U fefonrgding § uedfeams & nurds €91 5% g fonmrfier 2331 |

(a) uE! T lEdgs (b) T%3 Ut T fsgaas

(¢) &&3 uE yfsues yfafar (d) v feds g Uer Unar & MissT
Which atmospheric layer is closest to the Earth's surface?

(a) Troposphere (b) Thermosphere

(¢) Stratosphere (d) Mesosphere

SYHE® © fagst YIS Ut © 35 T H3 3 suEla J ¢

(a) ZUHESHMI (b) TIHFAEHT

(c) ACZHeMT (d) HirenE

Which of'the following is a biotic component of an ecosystem?

(a) Fungi (b) Wind

(c) Sunlight (d) Temperature & Water

Jat i fant feg faasr ufanedsa ydy e fea wigr 3

(a) 8 (b) IT .

(c) HIA T Yl : (d) IUNS of3 Ut

“The natural disastrous events like volcanoes, earthquakes, cyclones, bring about environmental

changes which are: : i

(a) Reversible (b) Irreversible

(c) Both (a)and (b) (d) None of these

FEgs! feame wesst fae’ et 3976, Jagers ufmieasa ufseass BT 75 figd 05 -
(a) HIBEG (b) &-HIEGII

(¢) (a)n3 (b) T (@) fegst fe8 =t Bt

During the month of November in 2017, there was Smog in the environment. Actually the Smog is
combination of: :

(a) Smoke and snow (b) Snow and fog

(¢) Smoke and fog (d) All the above

A7 2017 ¥ 5369 Hdla 29918, T13ees &g unidl ge /i | e g goindt de AGar Y -
(a) GEnm3foer (b) fTaHnE g o

(¢) UEm3 duar (d) Sudss Ay

Decreased sail fertitity through rapid leaching of the essential mineral nutrients is due to:
(a) Reforestation : (b) Deforestation :

(¢) Over exploitation (d) Recycling of forest products

Agdt ufen wiat & 37 &t ot aedt v wiewr Guaus fom args 3

(a) o Farz : (b) Fowst oF FeTet

(¢) ¥U RRE (d) 70 83Ut § U3 TI3 T FI&
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Which one of the followings is the causal organism of Cholera and Typhoid?

(a) Virus (tg} Fungus (c) Housefly (d) Bacteria
Jo' fefamr feg fga3 I w3 et gyg o agd /iR 3 2

(a) Tfean (b) G (c) Hyt (d) ST
Liquefied petroleum gas is a mixture of:

(a) Propane and butane (b) Methane and propane

(¢) Methane and butane (d) Methane and ethane

398 UedshoH diF fHees

(a) Yus m3 5825 =r (b) HEa miz Yus &

(©) Hitm w3 fgen = (d) Wit w3 s =

You are teaching your students about renewable and non-renewable sources of energy. How will
you identify the non-renewable sources of energy from the following? '
(a) Coal (b) Fuel cells (c) Wind power (d) Wave power

3H" niuE fefenradint § Bamr ¥ sfenBatial m3 &-afenm@ztiar Afimt a9 ug™ 30 1 3T
Jot fafni f55° aT-arfenr@agar Afimit & ufgers 2 =941 7 ;

(a) & (b) I®BE B (c) U= mast (d) saaﬂaét

You are to advice the organizers of a religious place about the sound pollution. Which one of the
following maximum average permissible noise levels during day time hours as per envxronment
protection act in India will you suggest them?

(a) 30dB (b) 45 dB (c) 50dB (d) 55dB

3T fex Tafia Aas ¥ ydue § B9 yEAT 89 AR ¥ ¥ | 3R 393 fiu @3wds H9e
WEE WA Jo' fefant 185" fos & AN wisrg wiftesH WiAs e »ie™ Uus 8ot § Bidl 2

(a) 30dB (b) 45 dB (c) S0dB (d) 55dB
World 'Ozone déy' is being celebrated every year on:

(a) Sept. 5™ . (b) Sept. 16" (¢) Oct. 15" (d) June 5™
feme G feer g9 A HaTfenr AT 9

(@) SASETE (h) 16 ASST & () 15waF3gdd (d) 58538
First International Earth summit was held at:

(a) Germany (b) Stockhohp

(c) Johannesburg (d) Rio de Janeiro -

ufgs wizgamedt fysst P 3t H

(a) Howdt fey (b) AEFTHH fed

(c) TrasAgga fed (d) TE-f3-fa3dAE6 feu

The students ask you that what is the full form of EPA. Which one of the followings will you select
to justify this abbreviation?

(a) Environmental Protection Act (b) Environmental Prevention Act

(c) Environmental Pollution Act (d) Environmental Protection Agency

3073 fefonrget 3078 EPA @ Uds gu U T5 | m%ﬁnmuzwmegaﬁw%w
&3 farst 9= a<a ?

(a) mﬁaﬁ?ﬁq@aﬂﬁﬁaz  (b) feserfeanes WEEs Mae
(c) ferefeanes ufstns wiac - (d) fesefesies Uears XAt

21 : ; _ (Paper-I)
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In which year The Hon'ble Supreme Court of India made environmental education as compulsory
subject at all the levels of education?

“(a) 2000 (b) 2001 (c) 2002 (d) 2003

fom A feg 9793 & watial A9RET niess 3 T3wds fiffmr & itk & Ay Uuet et Aget
femr gatfonT At 2
(a) 2000 (b) 2001 (c) 2002 (d) 2003

An aquatic plant introduced from America to check pollution, but it turned out to be a troublesome |
weed in Indian water bodies. The name of this “invasive alien species’ is:

(a) Opuntia (b) Aegilops (¢) Eichhornia () Pistia

yEHE & Jaa mt midter S B 79 U feier fr HY, udS 9 s RSt oS feg o
guTTEl et uE famr | for feacfis &8s Wt o an T '

(a) Opuntia - (b) Aegilops (¢) Eichhornia (d) Pistia

It waste materials contaminate the source of drinking water, which of the following disease will
spread?

(a) Scurvy (b) Typhoid (¢) Malaria (d) Anaemia

A9 A€t IBI UTTTE UtE T8 WEt ¥ AN 3 TS o9 e 9, It fofans o9 fxosr Sar &&ar ¢
(a) AT (by fimiet gurs (c) H&Ior (d) niEHD

Which of the following problems is not created by noise pollution?

(a) Diarrhoea - (b) Hypertension

(¢) Deafness . (d) Irritation

I FEf3ntt 25" faost mifir wes yore ouirgr T &4t 35t 9 _

(a) TAS © (b) TEUGCHS (c) Ffgaus (d) fosfasus

The expanded form of GIS is:

(a) Geographical Information System (b) Geographical Information Source

(¢) Geological Information System (d) Geological Index System

GIS T ferfzz qu I

(a) TrBufeas femegine famen (b) fA€arfeas fesearms Aan

(c) FBw+iam feseanms fireH (d) fRE=iawm £3an fareH

MoEF means: : )

(a) Ministry of Energy and Forests ' (b) Ministry of Environment and Forests

(c) Ministry of Energy and Fuel (d) Management of Environment and Forestry
MoEF 3 32 J ;
(a) THAtFesT nie wiaart wis Trdne (b) fiatRedt nig feaefeane W3 g9Re
(c) THatFedt v wissHt wiE a8 (d) HaviHe nie feseredie aiE eraredt
-We should not cut trees and in order to prevent this, the Chipko movement was started by:

(a) Engler (b) Sunderlal Bahuguna (¢) Medha Patkar  (d) Atal Bihari Bajpai
A% fer & 5oz &t Toust § adt dee vdter, foud nives gy o3 famr At 2

(a) PIa®T DT ~ (b) FEISS GITE DT

(c) HU Uoad emrar (d) s fagrdt @ uTst onrar

Tobacco addiction is caused due to: ]

(a) Cocaine ~ (b) Caffeine (¢) Nicotine (d) Histamine

39a = &Ar feR 95 g 9 .

(a) B (b) dEF (c) B (d) faenis
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Carrier of Dengue disease is:

(a) Aedes Mosquito (b) Culex Mosquito

(¢) Housefly (d) Anopheles Mosquito
g dnrt v @0 3

(a) WEH Hed (b) T&EHaA Hed

(c) Hut (d) "ae®A Hed

Your students ask you to take them to.'Tiger State'. Which of the following states you will select to
take them?

(a) Gujarat (b) West Bengal (¢) Madhya Pradesh (d) Assam

373 fefonrarl 3078 ‘G937 yiz° 8 & 77 § afde 75 | A Bust § & & AE &L Jot fofand
&9 1303 94 € 92 ol | *

(a) IHEIT3 (b) UEHT H3r® (c) ¥oy=m (d) mHH
Which of the following has maximum speed?
(a) Air (b) Water Current (¢) Sound - (d) Light
Tat fefan €9 fom &t ot niftezH 3 7
(a) I (b) UE 3dd (c) n=H (d) yaH
You tell your students that cooking gas used-in-the kitchen is CNG. What is the full form of CNG?
(a_) Common National Gas (b) Compressed Natural Gas
(¢) Common Natural Gas (d) Certified Natural Gas
= niE fefonradint & ORT J fx JRet 0O 293t /e =@ I CNG J1 CNG T yds gu at J 7
(a) THE DHES (b) JUAS 5II% IH
(c) THA 35995 IH (d) FAICIEEE 5Ud% JH
The process of solid changing into liquid upon the supply of heat is called:
(a) Condensation (b) Evaporation (¢) Melting " (d) Boiling
Iy & yast *3 3R ¥ 39w P ufaeass Je & yfafor o8+ 3
(a) AWES (b) THUATE " (o) humE (d) Bam=
In which one of the following sound travels fast?
(a) Solid (b) Air (c) Water (d) Vacuum
- It ffani &9 fan feg ned 18 3 30 Swdt I
(a) 3A (b) T=T (c) uat (d) u&HM
What type of radiation is trapped on the earth's surface by the green house effect?
(@) UV rays (b) Gamma - rays (c) X-rays (d) IR rays
dits 98R yF=.enrdr UFsEt ¥ 35 ‘%fanqaae"rﬁaaﬁéuétﬁﬂ@%
(a) UV faasf (b) I foaat (c) X-fagst (d) IR faa&
The science that deals with the relationship of various organisms with their environment is known as:
(a) Anthropology  (b) Economics (c) Ecology (d) G.e(‘)lggy
fofmrs faggr fx Su-2y et o 8ast ¥ ufgnreds 516 AT EFeT J, o8 e d
(a) Hae fefamrs (b) WOERH3T (c) ufgrreas ydu (d) Bt fefomis
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